axiom’

Tissue Level

Components
overview

“nthogyr

A Straumann Group Brand



AXIOM® TISSUE LEVEL SURGICAL COMPONENTS AXIOM® TISSUE LEVEL SURGICAL COMPONENTS AXIOM® TISSUE LEVEL SURGICAL COMPONENTS

IMPLANTS

IMPLANT RANGE AXIOM ® TL REG AXIOM® TL PX
R PLATFORM 4.8 mm N PLATFORM 4.0 mm R PLATFORM 4.8 mm N PLATFORM 4.0 mm HEALING SCREW

1 STERLE

&

Cover screw
included

=

TSS-RO
Length hcle\:;'; ?3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ ?3.4mm @ @ 4.0 mm ?3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ ?3.4mm @ @ 4.0 mm

TSS-NO 1.5 mm = TOP40060R1 TOP46060R1 TOP52060R1 = TOP40060NT1 = TPX40060R1 TPX46060R1 TPX52060R1 = TPX40060NT1
6.5mm 2.5mm = TOP40060R2 TOP46060R2 TOP52060R2 = TOP40060N2 = TPX40060R2 TPX46060R2 TPX52060R2 = TPX40060N2
3.5mm = TOP40060R3 TOP46060R3 = = TOP40060N3 = TPX40060R3 TPX46060R3 = = TPX40060N3

1.5mm TOP34080R1 TOP40080R1 TOP46080R1 TOP52080R1 TOP34080N1 TOP40080N1 TPX34080R1 TPX40080R1 TPX46080R1 TPX52080R1 TPX34080N1 TPX40080N1

8 mm 2.5mm TOP34080R2 TOP40080R2 TOP46080R2 TOP52080R2 TOP34080N2 TOP40080N2 TPX34080R2 TPX40080R2 TPX46080R2 TPX52080R2 TPX34080N2 TPX40080N2
3.5mm TOP34080R3 TOP40080R3 TOP46080R3 = TOP34080N3 TOP40080N3 TPX34080R3 TPX40080R3 TPX46080R3 = TPX34080N3 TPX40080N3

1.5 mm TOP34100R1 TOP40100R1 TOP46100R1 TOP52100R1 TOP34100N1 TOP40100N1 TPX34100R1 TPX40100R1 TPX46100R1 TPX52100R1 TPX34100N1 TPX40100N1

10 mm 2.5mm TOP34100R2 TOP40100R2 TOP46100R2 TOP52100R2 TOP34100N2 TOP40100N2 TPX34100R2 TPX4000R2 TPX46100R2 TPX52100R2 TPX34100N2 TPX40100N2
3.5mm TOP34100R3 TOP40100R3 TOP46100R3 = TOP34100N3 TOP40100N3 TPX34100R3 TPX40100R3 TPX46100R3 = TPX34100N3 TPX40100N3

1.5 mm TOP34120R1 TOP40120R1 TOP46120R1 TOP52120R1 TOP34120N1 TOP40120N1 TPX34120R1 TPX40120R1 TPX46120R1 TPX52120R1 TPX34120N1 TPX40120N1

12mm 2.5mm TOP34120R2 TOP40120R2 TOP46120R2 TOP52120R2 TOP34120N2 TOP40120N2 TPX34120R2 TPX40120R2 TPX46120R2 TPX52120R2 TPX34120N2 TPX40120N2
3.5mm TOP34120R3 TOP40120R3 TOP46120R3 = TOP34120N3 TOP40120N3 TPX34120R3 TPX40120R3 TPX46120R3 = TPX34120N3 TPX40120N3
1.5 mm TOP34140R1 TOP40140R1 TOP46140R1 = TOP34140N1 TOP40140N1 TPX34140R1 TPX40140R1 TPX46140R1 = TPX34140N1 TPX40140NT1
14 mm 2.5mm TOP34140R2 TOP40140R2 TOP46140R2 = TOP34140N2 TOP40140N2 TPX34140R2 TPX40140R2 TPX46140R2 = TPX34140N2 TPX40140N2
3.5mm TOP34140R3 TOP40140R3 TOP46140R3 = TOP34140N3 TOP40140N3 TPX34140R3 TPX40140R3 TPX46140R3 = TPX34140N3 TPX40140N3
1.5mm TOP34160R1 TOP40160R1 = = TOP34160N1 TOP40160N1 TPX34160R1 TPX40160R1 = = TPX34160N1 TPX40160N1
16 mm 2.5mm TOP34160R2 TOP40160R2 = = TOP34160N2 TOP40160N2 TPX34160R2 TPX40160R2 = = TPX34160N2 TPX40160N2
3.5mm TOP34160R3 TOP40160R3 = = TOP34160N3 TOP40160N3 TPX34160R3 TPX40160R3 = = TPX34160N3 TPX40160N3

Round bur* (INFB20)
Pointer drill (OPPOT15150)
Lindemann bur* (OPR20)

Initial drill
OPFI20L

Gauge

OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020

e e - CMswwvEme . |UPEES . awrwwEms - |UPEES . jerwwEms - |WEEES . ewweEme - |WEEES . ewweEme ;. |UOSESS . ewweEme ;. |UPEES . jewweEms ;. |UOSESS . _jmewweEme . |UPESS . jgewweEme ;. |[UPEES . _jMesrweEms - |UPEES . _jMesrwwEms - |[WOEES . sw-wweEms
OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L

OPJD024 OPJD024 OPID024 OPJD024 OPJD024 OPJD024 OPID024 OPJD024 OPID024 OPJD024 OPJD024 OPJD024
e RS - ——— WSS - [T T S [ WEED . WS i [T e [ WEES LW - [T LW e RS e i [WEES . jarwWEse s |[WEES . LW e, PR
OPFE305 OPFE30L OPFE305S OPFE30L OPFE305 OPFE30L OPFE305 OPFE30L OPFE305S OPFE30L OPFE305 OPFE30L OPFE305S OPFE30L OPFE305 OPFE30L OPFE305 OPFE30L OPFE305 OPFE30L

ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285 ekt B2 285
OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD0O30
OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L
e g8 A e g8 A e g8 A e g8 A e g8 A e g8 A
OPJD036 OPJD036 OPJD036 OPJD036 OPJDO36 OPJD036
OPFE42S OPFE42L OPFE42S OPFE42L OPFE42S OPFE42L
e e © S S8 SR B 88 E(==y
OPJD042 OPJD042 Calibrating film | Calibrating film OPJD042
T Axiom® TL REG Axiom®TL PX
OPFE48S OPFE48L TOPF;—NOT TPXFF—NOT
s e
OPJD048
C s um . e T = (. St ©clEE e C (e _
OPTA34L OPTA40L OPTA46L OPTA52L OPTA34L OPTA40L
wrench 2 i
18 mm 1) G 63 G ) G 2 237 avenue André Lasquin
* 74700 Sallanches - France
—r % = F é‘ﬁ Phone: +33 (0)4 50 58 02 37
TIM100S TIW100S TIM100L TIW100L INCCDC Photo credits: Anthogyr - All rights reserved - Non-contractual photos. ~ C198_GB - 2019-12 WWW.a nthogyr.com

*Not included in INMODOPS3 surgery kit

HEALING SCREWS

AXIOM® TL REG & PX

R PLATFORM N PLATFORM
4.8 mm 4.0mm

Conical 2mm

THS-R210 THS-N210
4 mm ﬁ
THS-R410 THS-N410
Straight 2 mm T ?
THS-R200 THS-N200

Axiom® Multi-Level®
Surgical kit

Manual surgical wrench

%.

OPCS100



AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS

IMPRESSION TAKING TI-BASE

® MU titanium screw MUT40Z included ~® MU black screw MUT40 included ~ ® MU laboratory screw MU141 included

TEMPORIZATION INSTRUMENTS & SCREWS
SINGLE RESTORATION SINGLE CEMENTED OR SCREW RETAINED RESTORATIONS SINGLE RESTORATIONS Black M1.6 prosthetic screw == 15160
IMPLANT LEVEL Ti-base FLEXIBASE 0 o Temporary abutment IMPLANT LEVEL Titanium M1.6 prosthetic screw o— 61
Conventionlimpresi Digtalmpress - 50mm 2omm —
onventional impression igital impression /zh Coronal height: 3.5 mm Sive L Blomi Give S Blork R PLATFORM 4.8 mm N PLATFORM 4.0 mm Short LAB M1.6 screw 163
R PLATFORM 4.8 mm N PLATFORM 4.0 mm R PLATFORM 4.8 mm | N PLATFORM 4.0 mm %’“/ ’NZ.SX
: b d b 5 o . S ———
Short Long Short Long W ] M1.6 black screw included R PLATFORM 4.8 mm N PLATFORM 4.0 mm FOR R PLATFORM 4.8 mm FOR N PLATFORM 4.0 mm b Long LAB M1.6 screw 15162
. renc M1.6 titanium ;
Pop-in transfer for analog ‘WL w sorew indlizded Black M1.6 prosthetic screw (plural) D=mn TS160P
Screw included * ' for printed 75160 ]\"l Short LAB M1.6 screw (plural) = TS163P-2 (x2)
del - - ® N- =ITERTTTTT—
) o ) o .Hexagonal wrench B mode .Hexagonal wrench TFLEX-R TFLEX-N TBASEC-R-L TBASEC-N-S i TS161 TC100-R TC100-N Long LAB M1.6 screw (plural) TS162P-2 (x2)
Axiom® Multi-Level TT200-R TT200LR TT200-N TT200L-N Digital transfer Cast coping I | S Short h | h E-
Prosthetic Kit Pick-up transfer Indexed I I ort hexagonatwrenc INCHECV
Long and short i’ § Manﬁ
screws included M@ ! ! Long hexagonal wrench %
| |
, @ Hexagonal wrench TT300-R TT-300-N 156-02-DT 156-01-DT @ rexagonal wrench TFLEXC-R OPFLEXC403 INCHELV
Abutment analog Analog for printed model Labora:cjory r Wrench for Scan-Adapter XL hexagonal wrench %
Scan Adapters @ , ' INCHEXLY
M@ M = Short hexagonal mandrel [ ————— & INMHECY
[ | — PA-TOOL-01 SATOOL-01
s T
@ Hexagonal wrench TAT00-R (x7) TAT00-N (x7) 156-02-PA (x7) 156-01-PA (x7) 156-0X-SAA Long hexagonal mandre : INMHELV
TA100-R-4 (x4) TA100-N-4 (x4) 156-02-PA-4 (x4) 156-01-PA (x4) _ XL hexagonal mandrel | HExLY
MULTIPLE SCREW RETAINED PROSTHESIS MULTIPLE SCREW RETAINED RESTORATIONS .
Screwdriver for Scan-Adapters N SATOOL-01
IMPLANT LEVEL FLEXIBASE
Conventional impression Digital impression Ti-base R PLATEORM 4.8 mm N PLATFORM 4.0 mm Dynamometrical ratchet wrench ! INCCD
R PLATFORM 4.8 mm N PLATFORM 4.0 mm R PLATFORM 4.8 mm | N PLATFORM 4.0 mm N (UCRIEE e
: Wrench w I j][l.
Pop—lr? transfer for analog j][l
pUHEREed for printed ze';gﬁagoml (168 Torq Control \
@ Hexagonal wrench . model TFLEX-R-P TFLEX-N-P . . 7
ILT200-R-4 (x4) ILT200-N-4 (x4) Digital transfer —— , Universal dynamometric L //&&
Pick-up transfer (manual T T wrench | ‘ccw"“y.-‘»w"’f \
Non indexed ﬁ' " L M@ S
Long and short screws included ILT100-R (x) ILTI00-N (x]) “!, J': ot _
R (X =N (X
@ Hexagonal wrench ILTI00-R-4 (x4) ILTI00-N-4 (x4) 156-02-DT-IL 156-01-DT-IL ® texagonal wrench TFLEXC-R-P TFLEXC-N-P
Abutment analog Analog for printed model Laboratory Wrench for Scan-Adapter
Scan Adapters
@ E ' | =
B= S SATOOL-01
@ Hexagonal wrench TA100-R (x7) TA100-N (x7) 156-02-PA (x1) 156-01-PA (x1) PA-TOOL-01 156-0X-5A0
TA100-R-4 (x4) TA100-N-4 (x4) 156-02-PA (x4) 156-01-PA (x4)
; ABUTMENT LEVEL _ _ -
ABUTMENT MULTI-UNIT o : o , MULTIUNIT 2 ACCESSORIES & FINAL COPING MULTI-UNIT FLEXIBASE ON MULTI-UNIT MULTIFUNIT ABUTMENT LEVEL Wrench for straight MU abt %
Conventional impression Digital impression MUW100
oo 043mm /& 20mm /N 040mm /N 040mm /N '
‘ ABUTMENTS / ®4.0mm/N 0 / / __ N Mandrel for straight MU abt o MUMI00
Pop-in transfer Protective cap [STERILE m m Black screw Titanium provisional )
STERILE Wrelnchffor MOCAP (1) | MUCAP-4 fed) MUNCAP : P m o coping Long mandrel for straight MU abt e MUMI00L
Manual anhalog Ttor N
725 ; ) MUT200 (x7) MUNT200 (x7) . f Protective analog © ' MU40 MUFLEX MUNFLEX Short prehensile tool for MU
N MUT200-4 (x4) MUNT200-4 (x4) Digital transfer printed model _ —— <O>MUA200-4 - MUS?ZZOO ' : P == MUWS
Pick-up transfer e = Cast coping j— i == M1.4 MU titanium Millle ) ek edrenyor Ledie (== OPMU160
E i i (Monuet [ Castable coping - —— A4 screw included MUC100 MUNCI100 MUabt
ab Long and short + cm & MUC300‘ MUNC300 MUFLEXC MUNFLEXC il M1..6 N:DU titanium lab screw for = OPMUTET
MU screws MUTI00 (x7) MUNTI00 (x7) # i CoCr castable coping © P o WA Axiom® MU abt (blue)
included MUTI00-4 (x4) MUNTI00-4 (x4) 151-03-DT-MU 151-04-DT-MUN MUCA00 MUNC400 Laboratory Scan Adapters . : M1.4 MU black screw for ti co cr [ MUT40
Analog } - . - ] ' ] ' PEEK provisional coping prosthesis
Analog for printed model Straight pacific ring - m @:al ; ; N . M1.4 MU titanium screw for zirco- - U407
@ MUNPAC100 151-03-SAO 151-04-SAO L L nium prosthesis
Analog pacific © : 1 L
MUI\%CHO Wrench for Scan-Adapter M1.4 MU titanium .§. E- M1.4 MU titanium lab screw blue B mu
PA-TOOL-0T - — — L MUC200 MUNC200 MU short lab screw s MUTI0T
MU blue M1.4 MUA100 (x7) MUNA100 (x7) 151-03-PA (x1) 151-04-PA (x1) Castable pacific o ATOOLO! ¥ oz
screw included MUAT00-4 (x4) MUNAT00-4 (x4) 151-03-PA-4 (x4) 151-04-PA-4 (x4) MUNPAC120 : MU long lab screw = MUT102



